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1. IMacnopT KOMILIEKTA OLIEHOYHBIX MATEPHAJTIOB

Pesynbratom ocBoenust yueOHo¥ aucturmimabel OI'CD.03 «MHocTpaHHBIN
A3bIK B MPO(EeCCUOHANBHOU IEATENBHOCTU» SBJISIOTCS ~ OCBOCHHBIE YMEHHUS U
YCBOCHHbIE 3HAHHUS, HaAIpaBiCHHbIE Ha (POPMUPOBAHHE OOIIMUX KOMIETEHIUN
(OK 01. Beibupats crmocoObl pemieHus 3a1a4 npodecCHOHaANBHON AeSITeIbHOCTH
MIPUMEHHTENIBHO K pa3nnyHbiM KoHTekcTaMm; OK 02. Mcnonap30BaTh COBpEMEHHBIE
CpelICTBa MOUCKa, aHAIM3a U MHTEpHpeTauud UHPOpMalud, U UTHPOPMAIIMOHHBIE
TEXHOJIOTUHU ISl BBIMIOJIHEHUS 3aAad npodeccuonansHoil nearensHocTH; OK 03.
[InanupoBaTh U peann30BbIBATH COOCTBEHHOE MPOPECCUOHATBHOE U JIMYHOCTHOE
pa3BUTHE, TPEANPUHUMATEIBCKYIO JAESITENIbHOCTh B TpodeccruoHansHoll cdepe,
UCIIOJIb30BaTh 3HaHUS MO (UHAHCOBOM I'PAaMOTHOCTH B PA3JIMYHBIX KU3HEHHBIX
cutyanusx; OK 04. DpdexTrBHO B3aUMOAEHCTBOBATh U pabOTaTh B KOJUIEKTUBE U
koManze; OK 05. OcymiecTBiaATh yCTHYIO U NMUCBMEHHYK) KOMMYHHMKAIIMIO Ha
rocyJapcTBeHHOM s3blke Poccuiickoit dexepanuu ¢ ydeToM OCOOCHHOCTEH
COIIMAIBHOTO M KyJnbTypHOro KoHTekcTta; OK 06. IIposBisTh rpa)kaaHCKO-
NaTPUOTHYECKYIO MO3UIINIO, JEMOHCTPUPOBATh OCO3HAHHOE MOBEAEHUE HA OCHOBE
TPAIUIIUOHHBIX OOIIEYEIOBEYECKUX IIEHHOCTEH, B TOM YHCIE€ C YYETOM
rapMOHM3alMY MEXHAIMOHAIBHBIX U MEXKPEJIUTHO3HBIX OTHOUIEHUW, MTPUMEHSTh
CTaHIapThl  aHTHUKOppynuuoHHoro moBeaeHus; OK 07. CopaeiicTBoBaTh
COXPAHEHHUIO OKPYXAIOIIEH Cpellbl, PECYpCOCOEPEKEHUI0, TPUMEHITh 3HAHUS 00
W3MCHEHUHM KIMMaTa, MPUHIUIBI OEpeKIMBOTO MPOU3BOACTBA, A(h(PEKTUBHO
NeucTBOBaTh B 4Ype3BbluaiiHbiXx  curyauusax; OK  09. ITlonb3oBarbes
npo(eCcCHOHAIBbHOW JOKYMEHTAIlel Ha TOCyJapCTBEHHOM U HHOCTPaHHOM
s3bikax) W npodeccuoHanbHbix  kommereHiui (I[IK  2.1. Pa3pabatwiBaTh
TpeOOBaHUsI K NPOrpaMMHBIM MOJYJISIM Ha OCHOBE aHalIW3a IMPOEKTHOM U
TEXHUYECKOW JOKYMEHTAIMU Ha MpeaMeT B3aumonaeuctBus kommoHeHtT; [IK 3.1.
OCylIecTBIATh PEBBIOMPOBAHUE MPOrPaMMHOIO KOJAa B COOTBETCTBUM C
TexHndeckou nokymeHnranuei; 11K 4.1. OcyiecTBiasaTh HHCTALTALIMIO, HACTPONKY

1 o0cCIy>)KMBaHHE MPOTPaMMHOr0 oOecredeHusi KoMnploTepHbix cuctem; 11K 5.1.
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Cobupath HCXOAHBIE AaHHBIE IS Pa3pabOTKU MPOEKTHOM MOKYMEHTalUU Ha
uH(popmarmonnyto cucremy; 11K 5.2. PazpabaTbiBaTh NPOEKTHYIO TOKYMEHTALUIO
Ha pa3paboTKy HHGPOPMAIMOHHON CUCTEMbI B COOTBETCTBHM C TPEOOBAHUAMHU
3aka3zumka; 11K 5.3. PazpabareiBaTh noacuctemMsl 0€301MacHOCTH HHGOPMALIMOHHON
CHUCTEMBI B COOTBETCTBMM ¢ TexHuueckum 3amanueM; [IK 5.4. IlpousBoauth
pa3paboTKy MOJysel HHPOPMAIIMOHHOM CUCTEMBbI B COOTBETCTBUH C TEXHUUECKUM
3amanueM; IIK 5.6, Pa3pabarbiBaTh TEXHHUYECKYIO JOKYMEHTAIMIO Ha
sKcIUTyaranuio nHdopmanuonHoi cuctemsl; [1K 6.3. Pa3pabaTteiBaTh 00y4aroniyro
JOKYMEHTALMIO JJig Tojib3oBaTene uHpopManronHod cuctems; [IK 8.3.
OcyiecTBisATh pa3pabOTKy Ju3aiiHa BEO-TIPUIIOKEHHUS C YYETOM COBPEMEHHBIX
TEeHACHIMI B obnactu BeO-paspaboTku; 1K 10.2. Pa3pabaTeiBaTh TEXHHUYECKUE
JOKYMEHTBI JJIsI YIpaBJIeHHUs MHPOPMAIMOHHBIMH pecypcaMu) o0pa3oBaTelbHOU
nporpaMMbl ClEeNHaIbHOCTH. B pe3ynbrate KoHTposst U oneHkun «OI'CD.03
WNHocTpaHHBI $3bIK B IPOQECCHOHATIBHOU JEATENIbHOCTH» OCYILIECTBIISETCS
IIPOBEPKA CIEAYIOINUX 3HAHUM U YMEHUM:

Y 1 — oOmartscst (YCTHO M NHCBbMEHHO) Ha HHOCTPAHHOM S3bIKE Ha
npo¢eCCUOHATbHBIE U IIOBCEIHEBHBIE TEMBI;

y 2 - nepeBoauTh (CO  CIOBApeM) HWHOCTPAHHBIE  TEKCTHI
npo¢ecCuoHaIbHON HaNpaBICHHOCTH;

VY 3 — caMOCTOSTENBHO COBEPLIEHCTBOBATH YCTHYHO M IMCBMEHHYIO PEUb,
IIOTOJIHATH CIOBAPHBIN 3aI1ac;

Y4 — cTpouTh TpOCTHIE BBICKA3bIBaHUA O cebe U CBOEH MpodecCuOHATBHON
NEeSATENbHOCTH;

Y5 — kpatko 00OCHOBBIBaTH M OOBSCHATH CBOM JEHCTBUA (TEKyIIHE U
IJIAHUPYEMBIE);

Y6 — nmcaTe MpoCThIE CBS3HBIE COOOLIEHHWS HAa 3HAKOMBIE WIH
MHTEPECYIOIHE MPO(PECCUOHATIBHBIE TEMbI, MpPaBHJIa NOCTPOCHUS MPOCTBIX U

CJIOKHBIX MPEISIOKEHUN Ha MPO(EeCCUOHAIBHBIE TEMBI;



3 1 — nexcuueckuit (1200-1400 nekcuveckux €AUMHUI]) U TPAMMATHUYECKUI
MUHHUMYM, HEOOXOJIMMBIN IJii YTEHHs U MepeBojaa (CO CIIOBApeM) MHOCTPAHHBIX
TEKCTOB MPO(PECCUOHATIBHON HAIPABIEHHOCTH;

32 — OCHOBHBIE o0OIIEeynoTpeOUTeNbHBIE TJaroyibl  (ObITOBasT U
npodeccuoHanbHas JIEKCUKA);

33 — JIeKCMYEeCKMH MHUHUMYM, OTHOCSAIIMICS K ONUCAHUIO NPEIMETOB,
CPEJICTB U MPOLIECCOB MPOPECCUOHATIBHOMN JEATEIBHOCTH;

34 — 0cOOEHHOCTH TPOU3ZHOLICHUS;

35 — npaBuiia YTeHUs TEKCTOB MPO(heCcCUOHATBLHOM HANPaBIEHHOCTH.

DopMol aTTecTaluu SIBISECTCS — Ouhhepenyuposannwvlii 3auem.



2. CooTBeTCcTBHE BUI0B M (DOPM KOHTPOJIS, OEHOYHBIX CPeICTB

MPpOBEPACMBIM 3HAHUSIM U YMECHHUSIM

Bua xonTpoas Popma OuenovHoe IIpoBepsiemble
KOHTPOJIA CpeacTBO 3HAHHMS U YMCHUS
[Tucemennas pabora | TectupoBaHue KM ¥-1-6; 3-1-5




3. Kpurtepum oneHku

[Tpumep onucanus 11t AU GHepeHIUPOBaHHOTO 3aUeTa:

® OICHKAa «OTJIMYHO» BBICTABJISETCS B ClydasX, KOrja CTYAEHT CBOOOJHO
BIAJECET MATepHAIOM, OTBEYAaeT Ha  JONOJIHUTEIbHBIE  BOIPOCHI,
JEMOHCTPUPYET BBICOKUH YPOBEHb C(POPMUPOBAHHOCTH HEOOXOJUMBIX
3HAHUU U YMEHUH;

® OLEHKA «XOpOILIO» BBICTABISETCA B ClydasX, KOIJa CTYAEHT BIIAACET
MaTepuajoM Ha XOpOLIEM YPOBHE, HO HE OTBEYAeT HA JOIOJHUTEIIbHbIC
BOMPOCHI, JAEMOHCTPUPYET TMOBBIIICHHBIH YpPOBEHb CPOPMUPOBAHHOCTH
HEOOXOIMMBIX 3HAHUN U YMEHHI;

® OLEHKA «YyIOBJICTBOPUTEIIBHO» BBICTABIACTCS B Clly4asX, KOrja CTYyACHT
BJIAJICET TEPMUHOJOIMYECKUM  annapatoM, OCHOBHBIMU  3HAHUSIMH,
YMEHUSAMHU M HAaBbIKAMHM, HO HE IIOJIHOCTBIO DPACKPBIBAECT IIOCTABICHHBIC
BOIIPOCHI, HE OTBEYACT HA JOMOJIHUTEJIbHBIE BOIPOCHl, HE CIOCOOEH
IPUMEHATh 3HAHUA K aHAINU3y IMPAKTUKHU, JAEMOHCTPUPYET IIOPOTOBBIN
YPOBEHb CPOPMHUPOBAHHOCTU HEOOXOAMMBIX 3HAHUM U YMEHUH;

® OLEHKA «HEYIOBJIETBOPUTEIILHO)» BBICTABIISECTCA B CIy4asx, KOrJa CTyJICHT HE
BJIAJICET MATEPUAJIOM, HE PACKPBIBACT COACPIKAHUSA IIOCTABICHHBIX BOIIPOCOB,
JE€MOHCTPUPYET YpPOBEHb C(HOPMUPOBAHHOCTH HEOOXOAMMBIX 3HAHUU WU

YMEHHUH HUKE TOPOTOBOTO.



4. OueHoYHbIE CPeACTBA

s onybnaukosanus npedcmasiensvt npuMepHvle 8apuanmvl OYeHOUHbIX CPEOCms

Paznen
1.
AHrnui
CKHUM
SI3BIK-
SI3BIK
MeJKHaIL
HOHAJb
HOTO
o011eH
sl

BcraBbTe apTHKIIB, I1e HEOOXOAUMO

.. United Kingdom occupies the territory of ... British Isles.

.. City is the oldest part of ... London.

.. City is the oldest part of ... London.

.. Thames and ... Severn are the main rivers of ... Great Britain.

YCcTaHOBHUTE COOTBETCTBHE:

1.The City a) consists of two chambers
2.The island of Great Britain D) is the aristocratic official part of London

3.The Parliament
4. \Westminster

c) the aristocratic and business center of London
d) is subdivided into main regions

1.The Commonwealth of Australia is
2.The capital of the country is

3. The capital of the Olympic games was
4.The largest state in the USA is

a) Washington

b) a federation of six states
c) Alaska

d) Sydney

1.Canada is located in a) the Indian Ocean and the Pacific Ocean
2.The continent of Australia is situated

between b) both in Asia and in Europe

3. New Zealand is a country in c) North America

4.The Russian Federation is situated  d) the Pacific Ocean

1.The City a) consists of two chambers
2 The Russian Federation
Is situated b) is the aristocratic official part of London

3.The Parliament c) the aristocratic and business center of London
4.\Westminster d) both in Asia and in Europe

Tpanchopmupyiite npeaaoKeHus1 U3 NPSIMOH pe4Yd B KOCBEHHYIO:

He asked me, “Where do you live?”

Mary said, “I’m going to be a bit late.”

The teacher said to me, “You have not done your homework well”.

The programmer said to me, “Follow the instructions”.

3aKOHUHTE MPEJI0KEHUE:




The United Kingdom is a constitutional (or parliamentary) ...

The biggest and the most famous clock in London is called

The climate of the British Isles is generally..........................

The island of Great Britain is ... into two main regions.

Paznen
1.
AHrnuu
CKHUM
SI3BIK-
SI3BIK
MeEKHaIl
HOHAJIb
HOI'O
o0111eH
Usl.

JlalTe pyccKue JKBUBAJIEHTHI CJIeIYIOUIUX CI0B:

1.barman; 2. finalist; 3. milkman; 4.development

1. chairman; 2. pianist; 3.ex-champion; 4. homeless

1.sunglasses; 2.raincoat; 3.icecream;4.carpark.

1. chairman; 2. milkman; 3.ex-champion; 4. raincoat

HepeBeJmTe cleayrmue CJI0KHbIC MpuJjaaraTeJbHbIC:

1. a hand-written note; 2. snow-covered streets; 3. a man-made
satellite;
4. computer-aided technologies.

1. a hand-painted wall; 2. home-grown vegetables; 3. a man-made
satellite;
4. computer-aided technologies.

1. a hand-written note; 2. snow-covered streets; 3. a man-made
satellite;
4. computer-aided technologies.

1.a hand-written note; 2. a dog-bitten boy; 3. snow-covered
streets; 4.university-trained specialist

CocTaBbTe npea10KeHus, co0.110/1asi NPABUJILHBII MOPSII0K CJIOB.

1.have, discussed, the, problem, they.
2.in our, student, group, studies, the

1.examinations, June, will, take, students, the, next.
2.now, am, at, I, the, lesson, English.

1. English, We, our, on, classes , have , Mondays.
2. in our, student, group, studies, the

1.have, discussed, the, problem, they.
2.examinations, June, will, take, students, the, next.

YnorpeduTe npaBWIbHYIO (hopMYy rJiaroJia:

Secondary education institutions (include) elementary schools and high

schools.

They (calculate; are calculate) the trajectories of spaceships.

In Russia at primary schools all lessons (to conduct) by one teacher.

Colleges (to differ) a lot from each other in scale and level of education as

well as in the “quality” of diploma given.
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Pasnen CocraBbTe CJI0BOCOYETAHUS U3 JAHHBIX CJI0OB:
1. 1. boarding a) number
Anrnui | 2, check-in b) luggage
ckun | 3. flight C) pass
a3plk- | 4. hand d) desk
A3BIK | 1. excess a) locker
MexHal | 2, overhead b) lounge
HMOHAIb | 3, departure c) control
HOro |4, passport d) baggage
o01IeH
. 1. boarding a) number
2. check-in b) luggage
3. flight C) pass
4. hand d) desk
1. boarding a) number
2. check-in b) luggage
3. flight C) pass
4. hand d) desk
BeraBbTe NpaBUIIBHBIN NPEAJIOL:
There are a lot of ways learning English.
You are supposed going the customs.
The next formality is filling in the immigration form and going
passport control.
You can improve your pronunciation reading English books aloud
every day.
3anoJHUTE MPONYCK B NPeN10KEeHUH HYKHOH GopMOii ri1aroJia:
After (to fulfill) all these formalities you go to the departure lounge.
The customs officer kept on (to ask) her about the details.
On (to board) the plane they took their seats .
They thanked me for (to buy) the tickets.
Paznen | 3akonuure nmpeasioxkeHue, BCTABUB HEOOX0IUMOE CJIOBO
2. SI3wix | Vacuum tubes could control and electric signals.
HayKl | Transistors....... electronic tubes due to their numerous advantages.
6I/ISHHGC To make computers more............ transistors were used.
a. Vacuum tubes could control and electric signals.

Yunorpedurte npaBuibHYI0 ¢popmy rJiaroJa:

Electronic devices (to control) the work of power stations.

Scientists (to look) for new ways for the improvement of integrated circuits
technology.

They (to calculate) the trajectories of spaceships.
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Scientists (to look) for new ways for the improvement of integrated circuits
technology.

BcraBbTe npuyacTue B Hy:)KHOU opme

(to enter) the Internet, I always find a lot of interesting information.

Though never (to build) Babbage’s analytical engine was the basis for
designing today’s computers.

(to write) in a symbolic language programs require the translation into the
machine language.

(to contrast) with the analyst, the computer system architect designs
computers for many different applications.

BceraBbTe ri1aros B Hy:KHOM BHA0-BpeMeHHOM ¢opme:

Electronic device (to help) people discover new phenomena of nature.

A variety of tubes for specialized functions (to design) by scientists.

New phenomena of nature (to discover) by people due to electronic
devices.

Before the invention of the transistor its function (to perform) by vacuum
tubes.

IlepeBeauTe nmpeasioKeHus, coaepKamue MHPUHUTHB.

Facilities are required to house the computer equipment.

Information to be put into the computer for processing should be coded into
ones and zeroes

The first machines designed to manipulate punched card data were widely
used for business data processing.

Electronic devices (to help) people discover new phenomena of nature

Paznen

SI3BIK
HayKHu

OusHec

3akoHUYNTe MpeNI0KEeHHe, BCTABUB HEO0X0UMOE CJI0BO:

Computing is a concept....... not only arithmetics, but also computer

literacy.

We can make the computer do what we want.......... signals without turning

switches on and off.

Computers ............. for automatic piloting and automated navigation.

The programs............ to help people in the use of computer system.

YcTaHOBUTE COOTBETCTBHE:

1.Inputting a) meaningful collections of related characters;

2.Character b) directing the sequence of operations performed;

3.Database c) a written language symbol;

4.Data elements d) the process of entering collected facts into a
data processing system

5.Controlling e) a set of related facts.
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1.computer a) electronic and mechanical equipment in a computer
system

2.analog computer b) a system which processes and stores great amount of
data solving problems of numerical computation

3. digital computer c) a device that has input and output represented in the
form of physical quantities

4. hardware d) a device which can carry out routine mental tasks by
performing simple operations at high

speed

1.Inputting a) meaningful collections of related characters;

2.Character b) directing the sequence of operations performed,;

3.Database c) a written language symbol;

4.Data elements d) the process of entering collected facts into a

data processing system

5.Controlling e) a set of related facts.

1. hardware a) a set of programs, procedures and associated
documentation

2. software b) electronic and mechanical equipment in a computer
system

3.digital computer c) the process of preparation a set of coded instructions
for a computer
4. programming  d) asystem which processes and stores great amount of
data solving problems of numerical
computation

IIpeoOpa3yiiTe npeasioKeHus1, coepsKaiine MOIaJIbLHbIE IJ1aroJibl B a)
npouieaiiee Bpems; 0) Oyayuiee BpemMs

1. Computers can replace people in dull routine work.
2. The program is a set of instructions that may also include data to be
processed.

1. Computer-controlled robots must increase the productivity of industry.
2. They can help in making different decisions

1. In order to solve scientific problems researchers must deal with the
language of science—mathematics.
2. You may use this application program.

1. Computers can replace people in dull routine work.
2. The program is a set of instructions that may also include data to be
processed.

3aKoH4YNTE NpeNI0KeHHne:

ProCeSSING IS @ ..uvvtitiit et et

INPULEING 1S ..o

Storing is........coeevvinnn..
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OULPULEING 1S .t eneete ettt et ettt et e e eaee

Paznen

S3BIK
HAYKH

OusHec

OO0pa3syiiTe cTenneHH CPABHEHHUS NPUJIATaTeIbHbIX M HAPEYHIi:

1. small; bulky; reliable; good

late; broad; dependent; bad

broad; significant; little; wide.

new; easy; dependent; little

YcTaHoBUTE COOTBETCTBHE:

1.computer a) electronic and mechanical equipment in a computer
system

2.analog computer b) a system which processes and stores great amount of
data solving problems of numerical computation

3. digital computer c) a device that has input and output represented in the
form of physical quantities

4. hardware d) a device which can carry out routine mental tasks by
performing simple operations at high

speed

1. functional organization a) circuits used in large-scale digital system
of a computer

2. memory b) performs addition, subtraction,

multiplication.

3. arithmetic unit c) stores original data as well as partial results

4. logic gates d) method of interrelation of the main units of a
computer

1. logic gates a) performs addition, subtraction, multiplication

2. memory b) circuits used in large-scale digital system

3. arithmetic unit c) stores original data as well as partial results

4.functional organization
of a computer d) method of interrelation of the main units of a
computer

1. primary a) part of memory having lower speed but greater capacity
2. secondary b) the most expensive part of memory having the least
capacity and the fastest access time

3. magnetic disc c) one of the performance characteristics of storage
measured in binary digits

4. capacity d) the main method of secondary storage performing both
sequential and random storage

YnorpedonTe HYKHYI0 HeJJMYHYIO (hOpMY IJiaroJia:

When keyed the data are held in a small memory (to call) buffer.
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Data keyed into the memory of a computer by (to type) on a keyboard are
readable by humans.

The control unit operates by (to read) one instruction at a time.

The problem (to solve) is of great importance to the development of this brang
of industry.

IlepeBenuTe HA PYCCKHMM SA3BIK MPEI0KECHMS,
conep:xanquePerfect Participle Active /Perfect Participle Passive :

1. Having been coded the instruction was transmitted to the central
processing unit.2.Having finished the research the scientists made the
analysis of the data obtained

1. Having translated the program into machine language the computer architeq

put the program into the machine. 2.Having been transmitted to the central
processing unit the instruction made arithmetic-logical unit perform some
computations

1. Having been regulated by the operator the equipment operated well.

2. Having limited the information capacity of a single bit to two alternatives tf
computer designers expressed data by a combination of bits.

1. Having been coded the instruction was transmitted to the central processing
unit put the program into the machine. 2.Having been transmitted to the centrg
processing unit the instruction made arithmetic-logical unit perform some
computations

1. Having been regulated by the operator the equipment operated well.

2. Having limited the information capacity of a single bit to two alternatives tf
computer designers expressed data by a combination of bits.

Paznen
1-2

IlepeBeauTe HA PYCCKUI A3BIK

1.There is no federal educational standard in the USA. Schooling and
educational programs are the responsibility of each state; this why one can
find great differences in education from state to state. No uniform demands
exist on education in schools or universities throughout the nation. In most
states attending school is obligatory for children between six and seventeen.
Secondary education institutions include elementary schools and high
schools. Higher education is the USA is not nation-wide. Colleges differ a
lot from each other in scale and level of education as well as in the “quality”
of diploma given.

2.A typical American university has two levels of education: two years of
undergraduate classes and two more years of graduate classes. The
undergraduate years are called the freshman and sophomore year. During
the first and the second year the students take subjects of general education.
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Science, Humanities, Arts. The specialization begins at the third and the
fourth years, named the junior and the senior year respectively. After the
fourth year at college, students get Bachelor’s degree. Graduates may
specialize further and do research. They get a Master’s Degree.

3.In Russia the admission to higher school is competitive and based on the
system of entrance examinations, usually three or four. During the
examinations the school leavers must show their abilities in the chosen field.
Young people also have an option to get specialized secondary education in
vocational schools after the eleventh form. Among higher educational
establishments and institutes (colleges), academies and universities. The
term of studying in higher school is from four to six years.

4.0xford and Cambridge are the two oldest and most prestigious
universities in Britain. They are often called collectively Oxbridge to denote
elitarian education. Many Oxbridge students come from public schools and
Oxbridge graduates often go on to become influential and powerful in
British society. The tutorial system is one of the ways in which Oxford and
Cambridge differ from all the other English universities. Every student has a
tutor.

5.1t is well-known that the quick development of electronics began with the
invention of transistors. They replaced electronic tubes due to their
numerous advantages. One of the main advantages of the transistors in
comparison with the vacuum tube is absence of filament power loss. One of
the principal causes of damages in electronic circuitry is high temperature.
The heat causes breakdown of tubes and other circuit elements that are very
sensitive to this influence. The transistor, on the other hand, does not heat its
surroundings

6.1t is interesting to note that memory, one of the basic components of the
computer, is often called storage. It stores calculation program, the
calculation formulae, initial data, intermediate and final results.
Therefore, the functions of the computer memory may be classified in the
following way. Firstly, the computer memory must store the information
transmitted from the input and other devices. Secondly, memory

should produce the information needed for the computation process to all
other devices of the computer.

7.Generally, memory consists of two main parts called the main, primary
or internal, memory and the secondary or external memory. The advantage
of the primary memory is an extremely high speed. The secondary memory
has a comparatively low speed, but it is capable of storing far greater
amount of information than the main memory. The primary storage takes
a direct part in the computational process. The secondary storage provides
the information necessary for a single step in the sequence of computation
steps.
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8.A personal computer is a small computer based on a microprocessor; it is a
a microcomputer. Not all computers, however, are personal computers. A A
microcomputer can be dedicated to a single task such as controlling a machir
tool tool or metering the injection of fuel into an automobile engine ; it can bg
word word processor, a video game or a “pocket computer” that is not quite aj
ter. computer. A personal computer is something different: a standalone
computer that that puts a wide array of capabilities at the disposal of an
individual.
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